Year 5 Homework, Autumn Term Week 9 2

Maths: Speedy Six

V

7382 + 112 =
762 — 332 =
6x7=
99 + 11 =

vk wh =

sequence? 9, 14, 19...
What is 50% (half) of 30?7

o

What are the next two numbers in the

1)
2)
3)
4)
5)

6)

Yy

766.5 + 884.3 =

9477 — 5543 =

76 x9 =

654 +~ 6 =

What are the next two
numbers in the sequence?
85,72, 59...

What is 8435 x 100?

Keep practising your times tables.

Theme Homework — Due 30t November
Continue with your Egyptian project. See the extra sheet for more detailed instructions.

/

Spellings \

Core Support
balance along
imbalance eggs
balancing stop
unbalanced lots
medic duck
medication dictate
impress create
impression relate
relevant decide
restaurant describe

J

Optional SPAG guestion (1 housepoint if

completed)

5. Read the sentence below.

Tick the word that is a noun.

As time went by, the rubbish heap grew bigger and bigger.

went

heap

grew

bigger

Tick one box

Homework is due in on 23" November
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